GOVERNMENT OF NCT OF DELHI OFFICE OF THE EXECUTIVE ENGINEER/C-2

3rd floor, Circle Office Bldg. ,Road No.28, Shivaji Place, Raja Garden, New Delhi-110027

No. NIQ No.06 /WF/4701/EE-C2/DUSIB/2019-20/D-70 8 Dated: 19.11.2019

NOTICE INVITING QUOTATIONS

Executive Engineer/C-2 on behalf of DUSIB invites quotations on percentage rate basis in sealed cover from intending agencies who are registered with DDA,CPWD,BSNL,I&FC,MCD,MES etc for the work as given below:-

S.N.	Name of work	Estimated Cost (Rs)	Time Allowed for completion of work 15 Days.		
1	Now:-G.I.A. To DUSIB for existing infrastructure SH:- Renovation of Deputy Director Room No.02, (Rehabilation)at Raja Garden Double Storey Office Building (10-12645)	88,468/-			

The quotations should reach to the Office of the Executive Engineer, C-2, DUSIB, 3rd floor, Circle Office Bldg., Road No.28, Shivaji Place, Raja Garden, New Delhi-110027 latest by 3.00 PM on 21.11.2019 which shall be opened on the same day at 3:05PM in the presence of intending quotationers or their representatives. The intending quotationers may collect the schedule of quantities and other information from the office of the undersigned by 2.30:00 PM on 21.11.2019. The terms and conditions of the NIQ are as follows:-

- 1. The work shall be carried out as per terms and conditions of CPWD specifications with up to date correction.
- 2. Conditional quotations shall be liable for rejection.
- 3. For any disputes the matter shall be referred to Chief Engineer-I for final decision and same shall be binding upon both the parties.
- 4. Necessary statutory deductions will be made as per prevailing law.
- 5. Works shall be completed as per satisfaction of Engineer-in-charge.
- Debarred/blacklisted agencies shall not be permitted to participate in the NIQ process.
- 7. Copy of Registration, GST No. And Pan Card shall be provided along with the quotation by the bidder.
- 8. Schedule of quantity may also be downloaded from the DUSIB site.

EXECUTIVE ENGINEER,C-2 DUSIB

Name of Work:- G.I.A

Sub Head:- Renovation of dupty director room (Rehabilation) at Raja Garden Double storey office building.Room-2 (PID 12645)

Abstract S.N. **DSR** Item Qty. Unit **Estimate Rate** Amount 2016 **Figure** Words Rupees 1 14.46 Removing dry or oil bound distemper, 136.05 Sqm 10.80 1469.34 Ten and water proofing cement paint and the Eighty like by scrapping, sand papering and Paise preparing the surface smooth including Only necessary repairs to scratches etc. complete. 2 13.26 Providing and applying plaster of paris 68.03 118.70 Rupees 8075.16 Sqm One putty of 2 mm thickness over plastered Hundred surface to prepare the surface even and Eighteen smooth complete. and Seventy Paise Only 3 13.81.2 Distempering with 1st quality acrylic 136.05 49.65 Rupees 6754.88 Sqm distemper, having VOC (Volatile Organic Forty Compound) content less than 50 Nine grams/ litre, of approved brand and and manufacture, including applying Sixty additional coats wherever required, to Five achieve even shade and colour. Two Paise coats. Only Painting with synthetic enamel paint of 78.40 Rupees 4 13.61.1 4.20 Sqm 329.28 Seventy approved brand and manufacture to Eight and give an even shade: Two or more coats Forty on new work. Paise Only 5 17.7.10 Providing and fixing wash basin with C.I. 1.00 No. 2920.75 Rupees 2920.75 Two brackets, 15 mm C.P. brass pillar taps, Thousand 32 mm C.P. brass waste of standard Nine pattern, including painting of fittings Hundred and brackets, cutting and making good

the walls wherever require: Stainless

405x355 mm with single 15 mm C.P.

Steel AISI-304(18/8) Round

brass pillar tap.

Twenty and

Seventy

Only

Five Paise

6	18.10.1	Providing and fixing G.I. pipes complete with G.I. fittings and clamps, i/c cutting and making good the walls etc.: Internal work — Exposed on wall. 15 mm dia. nominal bore	1.00	metre	186.40	Rupees One Hundred Eighty Six and Forty Paise Only	186.40
7	18.17.1	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end): 25 mm nominal bore	1.00	No.	428.20	Rupees Four Hundred Twenty Eight and Twenty Paise Only	428.20
8	18.54.1	Providing and fixing PTMT bib cock of approved quality and colour. 15mm nominal bore, 86 mm long. Weighing not less than 88 gms.	1.00	No.	103.30	Rupees One Hundred Three and Thirty Paise Only	103.30
9	21.1.1.2	Providing and fixing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubular sections/appropriate Z sections and other sections of approved make conforming to IS: 733 and IS: 1285, fixing with dash fasteners of required dia and size, including necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/neoprene gasket etc. Aluminium sections shall be smooth, rust free, straight, mitred and jointed mechanically wherever required including cleat angle, Aluminium snap beading for glazing / paneling, C.P. brass/ stainless steel screws, all complete as per architectural drawings and the directions of Engineer-incharge. (Glazing, paneling and dash fasteners to be paid for separately): For fixed portion Powder coated aluminium (minimum thickness of powder coating 50 micron)	55.12	Kg	384.50	Rupees Three Hundred Eighty Four and Fifty Paise Only	21193.64

10	21.1.2.2	Providing and fixing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubular sections/appropriate Z sections and other sections of approved make conforming to IS: 733 and IS: 1285, fixing with dash fasteners of required dia and size, including necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/neoprene gasket etc. Aluminium sections shall be smooth, rust free, straight, mitred and jointed mechanically wherever required including cleat angle, Aluminium snap beading for glazing / paneling, C.P. brass/ stainless steel screws, all complete as per architectural drawings and the directions of Engineer-in-charge. (Glazing, paneling and dash fasteners to be paid for separately): For shutters of doors, windows & ventilators including providing and fixing hinges/ pivots and making provision for fixing of fittings wherever required including the cost of EPDM rubber / neoprene gasket required (Fittings shall be paid for separately). Powder coated aluminium (minimum thickness of powder coating 50 micron)	55.12	Kg	444.90	Rupees Four Hundred Forty Four and Ninety Paise Only	24522.89
11	21.3.2	Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-in-charge. (Cost of aluminium snap beading shall be paid in basic item): With float glass panes of 5.50 mm thickness	4.82	Sqm	1003.95	Rupees One Thousand Three and Ninety Five Paise Only	4839.04
12	21.8.1	Filling the gap in between aluminium frame & adjacent RCC/ Brick/ Stone work by providing weather silicon sealant over backer rod of approved quality as per architectural drawings and direction of Engineer-in-charge complete. Upto 5mm depth and 5 mm width	24.30	m	62.45	Rupees Sixty Two and Forty Five Paise Only	1517.54
13	14.1.1	Repairs to plaster of thickness 12 mm to 20 mm in patches of area 2.5 sq. meters and under, including cutting the patch in proper shape, raking out joints and preparing and plastering the surface of the walls complete, including disposal of rubbish to the dumping ground, all complete as per directions of Engineer-In-Charge. With cement mortar 1:4 (1 cement: 4 fine sand).	10.00	Sqm	264.80	Rupees Two Hundred Sixty Four and Eighty Paise Only	2648.00

14	15.60	Disposal of building rubbish / malba / similar unserviceable, dismantled or waste materials by mechanical means, including loading, transporting, unloading to approved municipal dumping ground or as approved by Engineer-in-charge, beyond 50 m initial lead, for all leads including all lifts involved.	1.00	Cum	120.55	Rupees One Hundred Twenty and Fifty Five Paise Only	120.55
15	15.12.1	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 metres lead: of area 3 sq. metres and below	5.00	No.	157.85	Rupees One Hundred Fifty Seven and Eighty Five Paise Only	789.25
16	22.14.1	Grading roof for water proofing treatment with Cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	1.54	Cum	5583.80	Rupees Five Thousand Five Hundred Eighty Three and Eighty Paise Only	8599.05
		Add 15 COV on your CNCTD and an					84497.27
		Add 15.69% as per GNCTD order					13257.62
		Land for 0.50% on your CNCTD					97754.89
		less for 9.5% as per GNCTD					-9286.71
							88468.18

EE-C-2 AE-I/C-2